5. To calculate ASy,, at constant pressure and temperature, we use the following
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2 Why does a minus sign appear in the equation, and
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points)
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1. Write chemical formulas for the following compounds (30 points total)
€. POCI3

a. sodium sulfite

b. tin (IV) fluoride

c. ammonium hydrogen phosphate 7. The unknown sample of 9.486 g contained thallium (II) sulfate (T1,SO,) was
precipitated with sodium iodide to give thallium (I) iodide. ~Calculate the mass

d. potassium perchlorate
percent of T1,SO, in the sample if 0.1842g of TII was recovered. (10 points;

e. sodium hydride
atomic weight T1=204.38; S =32.07; O = 16.00)

2. Please balance the following equations. (15 points)
a. Ca(OH); g + H3POy (5g) — HO () + Ca3(POy);
b. Al(OH); (, + HCl () — AICl; (o) + H2O
c. AgNOs g + HaSOy gy — AgySO;4 () + HNO3 ()

3. Calculate the pH of a 0.20 M C,H;NH, solution (K, = 5.6 x 10'4). (10 points;
atomic weight of C=12.01; N=14.01; H= 1.008;)

4. Explain why HF is weak acid, whereas HCI, HBr, and HI are all strong acid. (10

points)



